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Example Candidate Responses — Paper 1

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge IGCSE / IGCSE (9-1) English as
a Second Language.

This booklet contains responses to all questions from June 2024 Paper 1. Exercises 1 to 4 responses have been
written by a Cambridge examiner to demonstrate a correct answer and are accompanied by examiner comments
highlighting common errors and misconceptions where they are relevant. For Exercises 5 and 6 we have selected
candidate responses to show how different levels of candidates’ performance (high, middle and low) relate to the
syllabus requirements. This document helps teachers to assess the standards required to achieve marks beyond the
guidance of the mark scheme.

The questions and mark schemes are available on the School Support Hub

0510 / 0511 June 2024 Question Paper 13

0510 / 0511 June 2024 Mark Scheme 13

Past exam resources and other teaching and learning resources are available on the School Support Hub



http://www.cambridgeinternational.org/support
http://www.cambridgeinternational.org/support

Example Candidate Responses — Paper 1

Exercise 1

Question 1

Who did Liam start a beekeeping club with?

Question 2

Where did the club put its hives initially?

Question 3

What kind of workshop is the club planning to run in the future?

Question 4

What is the most popular workshop activity with children?

Question 5

How does the club get money?

Question 6

What advice does Liam give people who want to start keeping bees?
Give three details.

find out the cost

[Total: 8]



Example Candidate Responses — Paper 1

Examiner comment

This exercise was generally very well attempted and there were few omissions. Some candidates needed to apply
greater precision when reading the questions.

Responses for Question 1 indicated that some candidates seemed to misunderstand the focus of the rubric, i.e.
who Liam started the beekeeping club with, and gave ‘his dad’ as an incorrect answer.

Question 4 produced the greatest number of incorrect responses, largely because of the inclusion of extra
incorrect information. The focus of the question was the ‘most popular’ workshop activity, which corresponded
to ‘particularly enjoy’ in the text. As a result, responses which included ‘honey, biscuits and soap’ in addition to
‘making candles’ could not be awarded the mark.
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Exercise 2

Question 7

Which person ...

(a) suggests they prefer playing music in the company of others? P [1
(b) hopes to receive public approval for their music? LB [1
(c) believes you can be a successful musician without a teacher? DAL [1
(d) refers to being inspired by a family member? LB [1
(e) wishes they had not been discouraged by the views of others? C. [1
(f) talks about the relaxing effect of playing music? AL [1]
(g) created something that was a great success? P [1
(h) offers a tip about how to overcome personal disappointment? C [
(i) mentions an event that changed their opinion? LB [1

[Total: 9]

Examiner comment

« (f) and (i) were more challenging for candidates, although they were also quite well attempted.

» For (f), candidates needed to select the text which mentioned the ‘relaxing effect of playing music’. The salient
detail appears in source Text A— ‘My guitar.....is the first thing | pick up when | get home....It helps me escape my
everyday worries and pressures’. Text C was most frequently supplied in error, suggesting that candidates were
distracted by the word ‘calming’ in the first line. This could not be awarded the mark as it referred to the effect on
the writer of listening to music rather than playing it.

» For (i), the focus of this item was an event which changed the writer’s opinion about something. The event in
question was ‘my first concert’, which appears in Text B. The writer explains how participating in the concert
changed her opinion of the type of person she is, i.e. she thought she was a shy person, but after performing at
the concert she realised that this wasn'’t the case. While incorrect responses suggest that some candidates word-
spotted ‘local event’, the range of incorrect answers supplied suggests that candidates needed more practice in
inference.
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Exercise 3

Question 8

Reasons why living walls are popular:

Question 9

Disadvantages of living walls:

e hard work to maintain

. create mess

Examiner comment

[Total: 7]

» In this exercise, candidates missed marks for Question 8 where they didn't include an appropriate verb or a salient
noun. Occasionally, candidates were not awarded a mark where they may have paraphrased and as a result
lacked precision, e.g. some gave ‘change your mood’, which did not convey the same idea as ‘improve your mood’.

+ For Question 9, some candidates missed out on marks because they omitted useful information, e.g. stating ‘they
are hard work’ without including ‘to maintain’, and a number of candidates gave ‘reduction of heat loss’, which was

key for Question 8.
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Exercise 4

Question 10
What does Emma say about her first job?

A It was supposed to be a long-term position.

B It was an important role in the company.

C It taught her some useful skills.

Question 11

What does ‘happy accidents’ in paragraph 2 mean?

A mistakes that have unexpected results

B errors that spoil what has been produced

C failed experiments that are easy to learn from

Question 12

In paragraph 3, Emma mentions how some people

A envy her flexible working hours.

B underestimate how demanding her job is.

C suggest that she should work elsewhere.

(1]

(1]

(1]
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Question 13

What does Emma say about technology in paragraph 4?

A It makes people less patient. v

B It has limited benefit for artistic people.

C It has little connection to the popularity of pottery.

[1]

Question 14

What does ‘it’ refer to in line 37?

A being interviewed in a TV studio

B failing to make the final selection v

C applying for a place on the show

[1]

Question 15

What do we learn about Emma in the final paragraph?

A  She sometimes doubts her own ability. v

B She’s easily influenced by others’ opinions.

C She lacks a competitive spirit.

[1]
[Total: 6]

Examiner comment

For Question 13, candidates were required to identify Emma’s view on technology. Option B was most frequently
supplied in error, possibly because candidates were distracted by Emma’s view that ‘working with a natural
material’ is wonderful. This is an opinion of pottery rather than technology, however, and we learn later in the
paragraph that Emma acknowledges the part digital technology can play in helping with creativity, so ruling out
option B. The correct answer, option A, can be found in the sentence ‘not getting instant results like those we’ve
come to expect from the internet... .is something that many of us struggle with’, which expresses her view that
technology has made people less patient.

Question 14 underlined the importance of understanding the use of referencing as a reading skill, and there were
a number of incorrect answers. Candidates needed to focus on the key word ‘it’ in the numbered line of the text and
read the sentence which contains this word carefully. The targeted phrases in all three options appear in paragraph
5, and candidates should consider which phrase accurately corresponds to the text sentence where ‘it’ is found, ‘it
was a bit of a relief as she’d been so nervous about being in front of the cameras’. In this instance, ‘it’ refers back
to her not ‘making the final selection’, option B. The sentence expresses her relief that something did not happen.

10



Example Candidate Responses — Paper 1

Options A and C could be ruled out because she did apply for a place on the show and was interviewed ina TV
studio.

For Question 15, candidates were required to identify what could be learned about Emma in the final paragraph.
The correct option, A, is rooted in the sentence ‘the whole experience gave her the boost of confidence she
needed...’. Candidates most commonly gave option C in error, possibly as a result of candidates assuming she
didn’t want to watch the TV show because she assumed the focus would be on the competitors, which was an
aspect that didn’t appeal to her.

1
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Exercise 5

Examiner comments

Example Candidate Response — high
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€@ The candidate shows skilful
coverage and development of

the three bullet points, which
demonstrates that these do not
necessarily need to be addressed in
the order in which they appear.

9 The candidate shows a range of

| vocabulary.

@) The candidate gives examples
of interaction with the reader.

@ The candidate uses discourse
markers for cohesion.

@ The candidate occasionally
lapses in their choice of language.

@ This shows examples of the
candidate’s skilful use of complex
forms.

Mark for Content = 6 out of 6
Mark for Language = 9 out of 9

Total mark awarded = 15 out of 15

How the candidate could improve their answer

» The response was consistent in terms of both relevance and sense of purpose. It was concise in terms of

development, but provided sufficient detail for top content marks.

» The candidate communicated the content skilfully throughout, and they demonstrated an excellent range of
vocabulary and complex structures. There were occasional instances, however, where the candidate used

language which was too formal for this genre of writing.

12
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Example Candidate Response — middle Examiner comments
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How the candidate could improve their answer

» The candidate fulfilled the task in terms of content with an attempt to develop each of the bullet points and they
adopted an appropriate style for this genre of writing. For top content marks to have been awarded, the candidate
needed to expand further some of the ideas presented and show greater interaction with the reader.

+ The candidate structured the response well and there was a sense of cohesion and coherence to the email. They
made clear attempts to use some less common vocabulary and examples of compound-complex sentence forms.
A greater degree of accuracy, particularly in the use of verb forms and tenses, however, would have helped the
candidate to achieve higher marks for language.

13
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Example Candidate Response — low
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Examiner comments

o The candidate’s lack of control
of the language they use impedes
communication of their ideas.

@) The candidate refers to
borrowing the jacket, but they do not
describe the event.

e The candidate shows good use
of rhetorical questions, providing
some sense of purpose and
audience.

@ The candidate attempts some
interaction with the reader.

6 The candidate’s repetition of
ideas / language limits development.

(@ The candidate attempts to
describe why the jacket is needed
in paragraph 2, i.e. for a vacation,
although this is with reference to a
future event.

@ The candidate shows some
appropriate use of common
vocabulary.

Mark for Content = 3 out of 6
Mark for Language = 3 out of 9

Total mark awarded = 6 out of 15

How the candidate could improve their answer

» The structure and content of this response indicated some misunderstanding of the rubric.

* In terms of content, the candidate attempted to cover all three bullet points in the first paragraph, but perhaps
realised that this was insufficient given the word count and went on to provide more detail in the second paragraph.
Although there was some extra content, this was quite repetitive and lacking clarity in places. Overall, the response

required greater development of all three bullet points.

» The apparent misunderstanding also impacted the structure of the response. The candidate could have improved
the organisation by dealing with the three bullet points separately and attempting to develop each of these before

moving on to the next.

+ The candidate demonstrated some appropriate use of common vocabulary, but there was limited control of
language in places and they did not always convey their ideas clearly. They also frequently repeated of some
vocabulary items. More varied content could have helped the candidate to demonstrate a greater range of

language.

» Overall, more careful reading of the rubric and some time spent on planning could have resulted in a more effective

response.

14
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Common mistakes and guidance for candidates

For this exercise it was important that candidates read the rubric carefully to identify who the recipient was and
what type of information should be included in the response. All three bullet points needed to be addressed for the
full range of marks to be available.

It was common for candidates to address at least one of the bullet points more fully than the others. This does not
mean that full marks for content could not be achieved, but higher band marks were more likely to be awarded
where there were attempts to develop all three points.

Candidates also needed to make sure that they responded in a suitably informal style and register for the target
audience. While most demonstrated an awareness of email format and included an appropriate salutation and
sign off, a common error was to produce responses which were rather narrative and lacked the conversational
tone required when writing to a friend or family member. The most effective responses drew the reader in through
addressing them directly and sustaining an informal, interactional style throughout.

15
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Exercise 6

Example Candidate Response — high

Examiner comments

semesjfvéewhhwlcﬂ*\(:\smslﬂ%twwjbe‘iﬁ‘ljﬁl!wova (2
e{'\/\umwwﬁwe&w&% ..... po.si;l.li\./_a ..... as pe&fsawl ...... S\ 6’{'6'45 .........

Mot cpr oo, suhas. y
eFovw ....... o thom, i wae_an_op ar}m«ﬁiro)m%zz«,bveak
IW(’ESGWO%MA'H‘E‘“"& wds_off thiy mpvt/zaw%

peuok\‘\i)wvw opo,xam ..... saa,sow«anol ....... \éCSEfoe ..................

The atommedofion. ves_ ok ;ﬁlﬁﬁ}'ﬁégiééifﬂ\?{ﬁff;;;;ﬁff;,;;g;ﬁ{;;f

. comboreble, b wong yenole soid ey lovel shendivg
J!’r‘e«weekemlwmwhewfe%mpr@ M -

8‘5 ...... | ﬂcceuvd's, ........... 8 w&re\ﬂﬁ ................ 2 a.mo‘ kiwA.é

Albestn. e wedly_eviool % Neoroughly, e e L —
&r@pmv@mad&?,aﬂ%f M\jt’JQgSVﬁﬂjﬁ%uW\&%W :
@\uﬁemvg}rh(w%mou ..... phgstmle%rjf ;

wode, o, i wold be @ w cemdfwge(-‘o"move[no&\ﬁbeoﬁmie
ﬁ\wpwp)zwe u&rﬁé\saww&éwﬂu&ai\gh*mkm

@ The candidate starts with a
clear, concise introduction.

9 The candidate uses the passive
voice throughout the report giving

it the objective, formal register
appropriate for report writing.

@ This compound-complex
opening sentence, containing
effective use of an attributive
adjective, is an example of the
candidate’s range and control
of language. This is sustained
throughout the report.

o Sequencing and signposting
language is used effectively to
organise the candidate’s ideas and
provide cohesion to the report.

@ The candidate uses a wide
range of vocabulary.

@ The candidate expands on the
prompts provided with original ideas.

Mark for Content = 6 out of 6
Mark for Language = 9 out of 9

Total mark awarded = 15 out of 15

How the candidate could improve their answer

This is a successful response which showcases the candidate’s linguistic range. It is not essential, however, for
candidates to produce writing of this level to achieve high marks. A response which covers all aspects, but has lapses
in style, occasional grammatical errors and / or varying levels of detail can also be awarded high marks.

16




Example Candidate Responses — Paper 1

Example Candidate Response — middle Examiner comments
(1

a The candidate introduces the
text as a report, but tends to adopt
an informal, personal tone. As a
result, the piece lacks the objectivity
required for this genre of writing.

@) The candidate’s control of past
tenses is inconsistent, but their
errors do not impede understanding.

@) The candidate attempts a
complex sentence structure.

@ The candidate uses some
signposting language to organise
the content.

@ Although the candidate relies
heavily on the prompts, there is an
attempt to develop at least one of
these with some original thought.

Mark for Content = 4 out of 6
Mark for Language = 4 out of 9

Total mark awarded = 8 out of 15

How the candidate could improve their answer

» The candidate could have improved this response by adopting a more formal, objective tone as required for report
writing.

* Although the candidate addressed both aspects and attempted some development, they also relied on the
prompts. The candidate could have improved this response by adding more detail to some of the ideas presented.

» The content was generally well organised and there was some ambition in terms of structure. The candidate could
have improved this response by demonstrating a greater range of vocabulary and a greater degree of accuracy,
particularly in the use of language forms and tenses. They could also have taken greater care in their use of
punctuation.

17
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Example Candidate Response — low
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Examiner comments

a The candidate directly
addresses the teacher, which is
inappropriate for report writing.

e The candidate uses a range of
common vocabulary appropriately.

e The candidate makes some
attempts at complexity. Accuracy is
lacking, but errors do not impede
understanding.

@ Direct reference to the writer
results in a style inappropriate for
this genre of writing.

@ The candidate uses some
sequencing language to organise
the content.

Mark for Content = 2 out of 6
Mark for Language = 4 out of 9

Total mark awarded = 6 out of 15

How the candidate could improve their answer

» The candidate seems to have misunderstood the requirements of this task. The register they used was not
appropriate for a report, and only one aspect was addressed which had an immediate effect on the number of

marks that could be awarded for content.

» To improve their answer, the candidate could have included an introduction which provided some context and
set out what would be covered in the report. They could also have adopted a more formal and objective tone, for

example, any direct reference to the writer should be avoided.

* In this response, the candidate lost focus quite quickly and rather than discussing the activity centre from several
perspectives, focused on sport alone. While original content is always to be encouraged, the candidate could have
drawn on the prompts provided to produce a response which went beyond a description of sport. This might also

have enabled the them to demonstrate a wider range of vocabulary.

Common mistakes and guidance for candidates

» For this exercise, it is important that candidates read the rubric carefully to identify the purpose and audience as
this may vary from one session to the next. It is worth noting, however, that this final writing task always requires a

more formal tone and register.

+ To make sure that an appropriate style is used, i.e. the content is factual, informative and objective, candidates
should start with an introduction that provides some context and sets out the purpose of the writing. The use
of signposting language to move from one point to the next can also help to provide a sense of cohesion and
logical flow. To achieve objectivity, candidates should try to focus on the facts and avoid making direct reference
to themselves. Taking this approach not only ensures a more appropriate register, but also encourages greater

linguistic complexity through the use of passive verb forms, for example.

» For this exercise, it was also important for candidates to notice if a second aspect needed to be addressed,
because not doing this would immediately affect the number of marks available for content. It is often the case that
the second aspect is not covered explicitly, or receives less coverage and is sometimes addressed in one or two
sentences only. While this does not necessarily limit the marks available for content, higher band marks are more

likely to be awarded where both aspects are fully addressed.
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